Determine the total displacement for each pair of vectors.
a) 5 km west, 18 km east

b) 560 m south, 370 m north

c) 5.9 m east, 3.9 m north

d) 0.45 m south, 0.89 m west

e) 100 m north, 100 m 40° south of west

f) 49 m east, 30 m 20° south of east

g) 400 m northeast, 500 m southeast

h) 5.4 km 15° south of east, 8.1 km 30° south of west



Determine the total displacement for each pair of vectors.
a) 5 km west, 18 km east
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d) 0.45 m south, 0.89 m west
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e) 100 m north, 100 m 40° south of west
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f) 49 m east, 30 m 20° south of east
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g) 400 m northeast, 500 m southeast
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h) 5.4 km 15° south of east, 8.1 km 30° south of west
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